CLASS : 12th (Sr. Secondary) Code No. 4331
Series : SS-M/2019

Roll No. SET : D
M| GRAPH
MATHEMATICS
[ Hindi and English Medium ]
ACADEMIC/OPEN

(Only for Fresh/Re-appear Candidates)

Time allowed : 3 hours | [ Maximum Marks: 80
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Please make sure that the printed pages in this
question paper are 16 in number and it contains
20 questions.
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The Code &@and Set on the right side of the

question r should be written by the candidate
on the froat page of the answer-book.

. W@@VWW@@W@FW@VB@JWWW

o e

Before ‘beginning to answer a question, its Serial
Number must be written.

 FT-GRaE % &9 7 Gl g/ 9 T 8ig)

Don’t leave blank page/pages in your answer-book.
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(2) 4331/(Set : D)
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Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written answer.

TETEl STYTT Ut To FIT-YH GT ST ford

Candidates must write their Roll Number on the
question paper.

PYFT G977l 1 FT 37 @ g7 I8 GARETT FT A 7 997-9H
g7 q @& & YO % Iy 59 FE § #HE A @
@B TE AT AR

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G~ 59T -

(i) 37 F97-97 7 20 797 & 7 [ G @vel - & §
golcgdae me:
G 9 37 @ H gF T & o 16 (i-xvi) I
7 & fr7d 6 W Sgfaeeid 8l J9%
&Qvﬂvrl 7% F &1
g G 5 ge d 2 § 11 7% 37 & w7
@ 81 g% 797 2 ofH #T &1
\@w’: 57 @5 712 § 16 7% 37 0T 997
N 81 T9% F97 4 9# FT 81
$
g% T 39 8% 717 720 T FT AX T
&1 J&% F97 6 S7E # 8
(1) FH 797 SffTarT &1
(i) @8 T % & go7] § SakE fwey [ 7 8
G74 & qF & J97 F T &1
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(3) 4331/(Set : D)

(iv) 77 79 J1% 997 I 7T+ TIT-Gawr & are Haeq
T &1

(v) % 99T GT T FC-GIeaHl H BHE ST [
(vi) SEFACT T B AT TE 81

General Instructions :
(i) This question paper consists of 20 questions

which are divided into four Sections : A, B,

Cand D :

Section ‘A’ : This Section consists of one
question which is divided into
16 (i-xvi) parts of which 6 parts
of multiple choice type.. Each
part carries 1 mark.

Section B': This Section consists of ten
questions from 2_to 11. Each
question carries 2 marks.

Section 'C': This Section  consists of five
questions from 12 to 16. Each
question carries 4 marks.

Section 'D': This _Section consists of four
® questions from 17 to 20. Each
K\Q question carries 6 marks.

(ii) A estions are compulsory.

(iii tion 'D" contains some questions where

$§nternal choice have been provided. Choose

QY one of them.

(iv) You must attach the given graph-paper along
with your answer-book.

(v). You must write your Answer-book Serial No.
on the graph-paper.

(vi) Use of Calculator is not permitted.
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(4) 4331/(Set : D)
gus - o
SECTION - A

1
1. () gof T PO AR f(x)=8x> A g(x)=x3.1
1

Find gof if f(x)=8x> and g(x)=

(i) cos_l(—%j H AN T - 1
21 T
(A) 3 (B) 2
© 3 (D) T & Hg

The value of cos_l(— %) is:

o = ® X
Q
(C)g@ (D) None of these
6‘2’
@5@@2x2a¢wzgqﬁwzﬁﬁu Roresh staTa
B 1

ah.=

Construct a 2 x 2 matrix whose elements
. w2
. +
are given by a;; = %
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(iv) ‘

(vi)

(5) 4331/(Set : D)

2 3 x 3
= * H I B - 1
4 5‘ 2x 5‘ e«
1 B) 2
3 (D) TTH q iz 7l
3 3
The value of x for which 2 = *
4 5 2x 5
1 B) 2
3 (D) None of these

X% U tan(2x+3) B SEHAT T P 1

Differe&xiate tan(2x+3) w. r. t. x.

K&Q

%W%Wﬁ?ﬁﬁ%ﬂﬂﬁﬁ?ﬂr%

Q
@@Q\Eﬁa@lﬁﬁﬁr=6cm,31 1

4331/(Set : D)

6T cm? /sec (B) 8mn cm? /sec

10m cm? /sec (D) 12n cm? /sec

P.T.O.
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(6) 4331/(Set : D)

The rate of change of area of a circle with
respect to its radius r, when r=6 cm is :

(A) on cmz/sec (B) 8= cmz/sec

(C) 10m cmz/sec (D) 12n cm? /sec

(Vi) x = 3 W P y=x>-3x+2 & WRET Fl
YaCTl §G i 1

Find the slope of tangent to the curve
Yy =x3-3x+2 at x= 3.

(vili) A ST IR 1
J' 1
x+ xlog x
Evaluate :
I 1
x+ xlogx
(ix) jx%g@%ixﬂ%%: 1
n ®
Q\@ T (B) —m
@$ (©), =2 D) 0
The value of jx3 cos x dx is:
(A) m (B) -=m
€ -1 (D) O

4331/(Set : D)
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(7) 4331/(Set : D)

2
(®) 2x2%—3ﬂ+y:0, I GHET B

dx
Fife 7 1
(A) 0 B) 2
€ 1 (D) 9 § HI3 T

The order of the differential equation
2
2 x2d_~g_3ﬂ

+y=0, is:
dx y
(A) O (B) 2
) 1 (D) None of these

2y) (dyV
(xi) ( y] +($y] +3y =0, SfEHAT FHET B

dx?

oI B | 1
(A) 1 (B) 2

(@6@‘“ SRR

AN 3
@Q (d_Qy] +(ii—di]2 +3y =0, is:

NP
@A) 1 (B) 2
() 3 (D) None of these
4331/(Set : D) P.T.O.
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(8) 4331/(Set : D)

(xii) aX P(A) - P(B) = 2 & P(ANB) = 4
13 13

13
@ P(A/B) & i 1
If P(A) = l, P(B) = 2 and P(An B) = i,
13 13 13

then find P(A/B).

(xiii) I P(A) = 0.3, P(B) = 0.6 @1 A 3R B @d=

geqd ¥, @ P(A &R B) & 9 sTd Iy 1

If P(A) = 0.3, P(B) = 0.6 and A and B are
independent events, then find the value of

P (A and B).

(xiv)aTaTa‘{Q@zqﬁﬁ@gh%@ﬁaq%

3 WY agies Fee W R dN W
$Q\Q%%@ﬁa%sr®waﬁaﬁﬁm 1
3

Two cards are drawn with replacement from
a well shuffled pack of 52 cards. Find the

probability that both cards are aces.
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(9) 4331/(Set : D)

(xv) d=i+j+2k @R & SRY T ARY A
T 1

Find the unit vector in a direction of a

vector 3={+j+21€.

(xvi) T 3@ & Rg-Hlodr d HiQ N FaSiHl & aqe
M BT TR B 1

Find the direction cosines of a line which

makes equal angles with co-ordinate axis.
gug - q
SECTION - B
2. HF AT 6 N T & @fbar +, a* b=a 1 b
# L.C.M. a@tﬁ?ﬂﬁﬁﬁ% 12 * 20 & HoQ 2

Let * @w binary operation on N given by a * b =
L.@. of aand b. Find 12 * 20.

@$

3. cos_l(cos%] Pl HIE T Eﬁli?Ql 2

Find the value of cos_l(cos %j
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(10) 4331/(Set : D)

2 4 -2 5
4. Al A= , B= 4,3A—2B5|'7f‘:ﬂ:f§|'lﬁ

3 2 3
it 2
2 4 -2 5
Let A= 2 , B= 2 , find 3A-2B.
3 2 3 4
(3 1
5. a1 A= ) 3}, aq ST |24 = 4|A]. 2

31
IfA:[2 3}, then show that |2A| =4|A].

6. x°+xy+y?=100 W%Zx—yamaﬁﬁm 2

Find % from the equation X2 # XY+ y2 =100.

7.qi%x=4t,y=§,aﬁ‘f—dimaaﬁi%m 2

If x = 4%‘5&9‘&%, then find %
&

S
8. wm{\\g?éf PHIfoTT 2
@$ J‘xlogxdx
Evaluate :
J‘xlogxdx

4331/(Set : D)
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(11) 4331/(Set : D)
9. AN T HiT : 2

jg/4tanxdx

Evaluate :

4
I:/ tan xdx

10. a T b & faga & g &% y =ae’* +be > &
Melg $ g STawa Ui 3d i 2

Find the differential equation corresponding to

y = ae®* + be™* by eliminating a and b.

11. T% U9 & 6 g IV AT &L I8 W 9 d& o<

@m@ﬂw@%wﬁzﬁsmﬂﬁmﬁaﬁﬁmﬁw

&
AT 2

©
é@e is tossed 6 times. Getting an even number

N

is considered a success. Find the probability of

exactly 5 successes.
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(12) 4331/(Set : D)
gE -4
SECTION-C

12. ¥ & 99 &9 § a9 Hi - 4

tan_l( cos x j
1-sinx

Write the simplest form of the following :

tan_l( cos x j
1-sinx
13. a 3 b & HM Fd HISTT b Bl -

S, I x<2
fx)=4ax+b AW 2<x<10, Had &l 4
21 T x>10

Find the value of a and b'so-that the function :
5 if x<£2
flx)= ax+l;®f 2<x<10
if ~x210

is @uous funetion.

14@mmmmﬁw

flx)=5x>—15x* —120x + 3 ¥&q %A f M= SEHM

2l 4

Find the interval in which the function

flx)= 5x° —15x% —-120x + 3 is strictly decreasing.
4331/(Set : D)
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(13) 4331/(Set : D)
15. U% 9 & 9] I8 § i d G 6 Wikl ded
A it 4

Find the probability distribution of number of

heads in four tosses of coin.

16. RIS &1 &9%a @d s foes o AL, 1, 2),
B(2, 3, 5) &R C(1, 5, 5) &I 4

Find the area of a triangle whose vertices are

A(1, 1, 2), B(2, 3, 5) and C(1, 5, 5).
qus - g
SECTION -D
17. = THIH0 &l e fafy SRT Ed &I ¢ 6
2x-3y+5z=11,
‘Q\Q 3x+2y-4z=-5,
&6 x+y-2z=-3
N e
§@§lve the following equations by a matrix method :
2x-3y+5z=11,
3x+2y—-4z=-5,
x+y-2z=-3.
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(14) 4331/(Set : D)
18. 90 x*+y* =a”® 4 MR &9 & &% 1 FPCW 6

Find the area enclosed by the circle

x2+y? =a?.
AYAT
OR
AN S BIRT 6
T xdx
o 1+sinx
Evaluate :
T x dx
o 1+sinx

19. 7:(5+€{S§)+%(f—3]+21€) AR r=4i+5j+6k+
ARi ) + ) Yl A A e 7 W A 6
&Q

@lnd the shortest distance between the lines :
F=(+2]+3k)+Ai -3]+2k) and

7 =4i+5)+6k+W(2i +3]+k)

4331/(Set : D)
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(15) 4331/(Set : D)

YqT
OR

A & ST S i, o f&gel (-2, 6, -6),
(-3, 10, -9) R (-5, 0, —6) & ToRT Bl 6

Find the equation of plane passing through the

points (-2, 6, -6), (-3, 10, -9) and (-5, 0, —6).

20. A9 N = s NI THRT B EA DT ¢ 6
IR : Z=3x+ 9y
QG B I

\Q
6\ x + 3y < 60,
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(16) 4331/(Set : D)

Solve the following linear programming problem

by graphical method :
Maximize : Z= 3x + 9y

subject to the constraints :
x+3y <60,

x+y=10,

4331/(Set : D)
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